Errata for the 5th Edition

Chapter

14
Example 14.8 



The voltage source needs to be a current source of 1.25 sin((t) mA.

(c) At ( = (0, Z = 8 kΩ and the entire current flows through R at resonance, the average power dissipated at ( = (0 is
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= 6.25mW




At ( = (1 = (2, 

P = 3.125 mW
Practice Problems:

6.12
The answer to (a) should be indicated as 800 mA.

7.6
The answers need units amps and amp-sec.

7.20
The answer to (a) should be indicated as 160 mC.

9.10
The answer should have the units of Ω.

12.15
The second answer should be 802.1 W.

16.7
To be more correct, the first answer needs to be multiplied by u(t) or 
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17.11
There should not be a negative sign in front of the equation.  

f(t) = 
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19.4
The answer is better given as y11 = 625 mS, y12 = –125 mS, y21 = 375 mS, 

y22 = 125 mS.

Appendix D, end of chapter problems.

16.35
The answer should be,
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